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QUESTION 1

You create two Resource Manager plans, one for night time workloads, the other for day time. 

How would you make the plans switch automatically? 

A. Use job classes. 

B. Use scheduler windows. 

C. Use the mapping rule for the consumer groups. 

D. Set the switch_time plan directive for both plans. 

E. Use scheduler schedules. 

Correct Answer: B 

 

QUESTION 2

Examine the parameters for your database instance: 

NAME TYPE VALUE 

optimizer_adaptive_reporting_only boolean FALSE optimizer_capture_sql_plan_baselines boolean FALSE
optimizer_dynamic_sampling integer 2 optimizer_features_enable string 12.1.0.1 

Which three statements are true about the process of automatic optimization by using statistics feedback? (Choose
three.) 

A. The optimizer automatically changes a plan during subsequent execution of a SQL statement if there is a huge
difference in optimizer estimates and execution statistics. 

B. The optimizer can re optimize a query only once using cardinality feedback. 

C. The optimizer enables monitoring for cardinality feedback after the first execution of a query. 

D. The optimizer does not monitor cardinality feedback if dynamic sampling and multicolumn statistics are enabled. 

E. After the optimizer identifies a query as a re-optimization candidate, statistics collected by the collectors are
submitted to the optimizer. 

Correct Answer: ACE 

 

QUESTION 3

Examine this command: 

SQL> CREATE DATABASE cdb1 DEFAULT TABLESPACE users DEFAULT TEMPORARY TABLESPACE temp
UNDO TABLESPACE undotbs1 ENABLE PLUGGABLE DATABASE SEED SYSTEM DATAFILES SIZE 125M
AUTOEXTEND ON NEXT 10M MAXSIZE UNLIMITED SYSAUX DATAFILES SIZE 100M; 
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Which two requirements must be met to ensure that CDB1 is created? (Choose two.) 

A. The ENABLE_PLUGGABLE_DATABASE parameter must be set to TRUE. 

B. The PDB_FILE_NAME_CONVERT parameter must be configured. 

C. The FILE_NAME_CONVERT clause must be added to the command. 

D. The USER_DATA TABLESPACE clause must be added to the command. 

E. The DB_CREATE_FILE_DEST parameter must be configured. 

Correct Answer: AC 

 

QUESTION 4

Examine the command to duplicate a database: 

RMAN> DUPLICATE TARGET DATABASE TO cdb 

PLUGGABLE DATABASE pdb1, pdb5; 

Which two statements are true about the DUPLICATE command? (Choose two.) 

A. The SPFILE is copied along with the data files of the pluggable databases (PDBs). 

B. A backup of pdb1 and pdb5 must exist before executing the command. 

C. The DUPLICATE command first creates a backup, and then duplicates the PDBs by using the backup. 

D. The root and the seed database in the container database (CDB) are also duplicated. 

E. An auxiliary instance must be started with the initialization parameter ENABLE_PLUGGABLE_DATABASE set to
TRUE. 

Correct Answer: BE 

 

QUESTION 5

You want to create a guaranteed restore point for one of your databases by executing the command: 

SQL> CREATE RESTORE POINT dbrsp1 GUARANTEE FLASHBACK DATABASE; 

Which two are required for the successful execution? (Choose two.) 

A. The database must be in ARCHIVELOG mode. 

B. Flashback Database must be enabled. 

C. The Fast Recovery Area must be configured. 

D. The database must be mounted. 
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E. Undo retention guarantee must be enabled. 

F. The database must be opened. 

Correct Answer: AC 

Reference: https://docs.oracle.com/cd/B19306_01/backup.102/b14192/rpfbdb002.htm 
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